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-XGXO ��$QDOLVLV�3HQHQWXDQ�+DUJD�3RNRN�3URGXNVL�0HEHO�SDGD�

7RNR�3HUDERW�$QGD�

3HPELPELQJ ��(UO\�0XO\DQL��6(��0�6L��$N

7XMXDQ� GDUL� SHQHOLWLDQ� LQL� DGDODK� XQWXN� PHQJHWDKXL� SHUKLWXQJDQ� KDUJD�

SRNRN�SURGXNVL�SDGD�7RNR�3HUDERW�$QGD��3HQHOLWLDQ� LQL�GLODNXNDQ�GDODP�EHQWXN�

REVHUYDVL�GDQ�ZDZDQFDUD��3HQXOLV�PHQJXPSXONDQ�GDWD�ODQJVXQJ�GDUL�7RNR�3HUDERW�

$QGD��%HUGDVDUNDQ�GDWD�\DQJ�GLSHUROHK� WHUVHEXW��SHQHOLWL�PHODNXNDQ�SHQJRODKDQ�

VHKLQJJD� GLSHUROHK� KDVLO�� %HUGDVDUNDQ� KDVLO� WHUVHEXW� SHQXOLV� GDSDW� PHPEHULNDQ�

NHVLPSXODQ�WHQWDQJ�SHUKLWXQJDQ�KDUJD�SRNRN�SURGXNVL�SDGD�7RNR�3HUDERW�$QGD�

%HUGDVDUNDQ�SHQJRODKDQ�GDWD�GLSHUROHK�KDVLO�SHUKLWXQJDQ�\DQJ�WLGDN�VHVXDL�

GHQJDQ� PHWRGH� )XOO� &RVWLQJ EHUGDVDUNDQ� KDUJD� SRNRN� SURVHV�� 0DND� GDSDW�

GLNDWDNDQ� SHUKLWXQJDQ� KDUJD� SRNRN� SURGXNVL� GL� 7RNR� 3HUDERW� $QGD� EHOXP�

PHQFHUPLQNDQ�NHVHOXUXKDQ�ELD\D�\DQJ�GLNHOXDUNDQ�SDGD�SURVHV�SURGXNVL�VHKLQJJD�

GDODP�SHQHQWXDQ�KDUJD�MXDO�SURGXN�WHUVHEXW�WLGDN�DNXUDW�GDQ�GDSDW�PHQJDNLEDWNDQ�

SHQHQWXDQ�KDUJD�MXDO�SDGD�SHUXVDKDDQ�PHQMDGL�WHUODOX�WLQJJL�DWDX�WHUODOX�UHQGDK�

.DWD�.XQFL ��3HUKLWXQJDQ�+DUJD�3RNRN�3URGXNVL��0HWRGH�)XOO�&RVWLQJ��0HWRGH�

+DUJD�3RNRN�3URVHV�


